15
$SUZUKI® INSTALLATION INSTRUCTIONS

Description: CENTER STAND SET Part Number: 42100-06861

Applications: ~ DL650L2/AL2 Installation Time: 1.0 Hours

“Ref. Description

Center Stand
Spacer (R) (long)
Spacer (L) (short)
Plate (R)

Plate (L)

Sensor

Bolt (M8, L: 35 mm)
Bolt (M10, L: 35 mm)
Cushion

Spring (inner)

Spring (outer)

Bolt (M8, L: 45 mm)
Bolt (M10, L: 48 mm)
Installation Instructions

gN

@800 0000 ®e

QTY
1
1
1
1
1
1
-
2
1
1
1
1
2
1

®

[

i

® @ G) ® ;@®

Tools Ref. Description
(1) Wrench (12, 14 mm)

(2) Spring hook (09920-20310)

(3) Torque wrench

(4) Socket (12, 14 mm)

(56) SUZUKI Super Grease “A”
or equivalent
[Recommended 99000-25010]

GENUINE SUZUKI ACCESSORIES
99021-11J01




